WKCQ 2000 WHITTIER STREET PO BOX 1776 SAGINAW, MI 48605 989-752-8161

C/O STRATEGIC MEDIA SERVICE/VA

Attn: ACCOUNTS PAYABLE 1911 N. FT. MEYER DR.

ARLINGTON, VA 22209

ANNETTE GLENN FOR STATE SENATE

Advertiser ID: 4309

Amount Paid

4309-00002-0001	10/30/2022	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

4309-00002-0001

O 10/30/2022

For: ANNETTE GLENN FOR STATE SENATE Purchase Order Number: PREPAID CHECK

Est. Number: 10415

Co-Op:

Description: candidate coordinated Salesperson: POLITICAL, .

ELECTRONIC INVOICE

									G 25 4 11 V	0202
Date	Day	Length						Qty	Rate	Total
			Tape: ANN	NETTE GLENN	RESULTS					
10/19/2022	Wed	1:00	WKCQ-FM	11:51:30 AM	02:36:10 PM	03:35:00 PM	04:35:00 PM	4	\$42.86	\$171.44
10/19/2022	Wed	1:00	WKCQ-FM	08:28:10 AM				1	\$50.00	\$50.00
10/20/2022	Thu	1:00	WKCQ-FM	12:52:30 PM	03:53:30 PM	05:53:30 PM		3	\$42.86	\$128.58
10/20/2022	Thu	1:00	WKCQ-FM	07:58:00 AM	09:51:40 AM			2	\$50.00	\$100.00
10/21/2022	Fri	1:00	WKCQ-FM	10:52:30 AM	02:53:30 PM	04:54:00 PM		3	\$42.86	\$128.58
10/21/2022	Fri	1:00	WKCQ-FM	06:59:00 AM	08:42:30 AM			2	\$50.00	\$100.00
10/24/2022	Mon	1:00	WKCQ-FM	11:51:30 AM	01:51:30 PM	03:52:00 PM		3	\$42.86	\$128.58
10/24/2022	Mon	1:00	WKCQ-FM	07:58:00 AM	09:53:00 AM			2	\$50.00	\$100.00
10/25/2022	Tue	1:00	WKCQ-FM	10:53:30 AM	12:53:00 PM	04:52:00 PM	06:53:30 PM	4	\$42.86	\$171.44
10/25/2022	Tue	1:00	WKCQ-FM	06:59:00 AM				1	\$50.00	\$50.00
10/25/2022				Agency Disco	unt					\$-169.29
									}	
	1									

We are converting all billing to E-invoicing. Please send AP contact person's name and email address to reception@98fmkcq.com

This station does not discriminate in the sale of advertising time, and will accept no advertising which is placed with an intent to discriminate on the basis of race, gender or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, gender, national origin, or ancestry

Affidavit Of Performance: I, Jessica Bremer - Station Official certify that in accordance with official station logs, the above announcements were broadcast on the days and hours stated. Subscribed and sworn before me this 30th day of October, 2022

\$1128.62 Quantity 25 Total \$ -169.29 AGENCY DISCOUNT \$959.33 **Total Due**

Mary Lou Hirschman - NOTARY PUBLIC Commission Expires - 3/2/2028

County: Saginaw State: MI

Oct 18, 22

CONT# 36212988 Mod# Ver# 1 (Last =)

REP EASTMAN

TO WKCQ-FM (Saginaw-Bay City-Midland, MI)

FM TERRANCE HOUSTON

OFF PHILADELPHIA

AGY STRATEGIC MEDIA SERVICES

ADDR 4601 N. FAIRFAX DR. SUITE 730

DDS CONT# 0 C/P/E: / / 10415

SALESPERSON FAX#

PH# 202-337-5700

4309-00000

BYR

ADV PDT

FLT

ARLINGTON, VA 22203

candidate coordinated

Oct 19, 22 - Oct 25, 22

ANNETTE GLENN FOR STATE SENATE

NEIL WILLIAMS

^{** 10/18/2022 11:17:00} AM: THIS IS A NEW ISSUE/POLITICAL ORDER. PLEASE NOTE THERE IS A 24 HOUR CANCELLATION POLICY ON ALL ISSUE/POLITICAL ORDERS. PLEASE CONFIRM WITH ANGELA.HOMAN@KATZMEDIA.COM OR CALL 215-557-4230. THANK YOU!

МС	LN	DAYS	TIME	LEN	EFFECTIVE DATES	# OF Day	NPD	RATE	TOT SPTS
		FLIGHT 1							
	1.1	W	6A - 10A	60	10/19/2022 - 10/19/2022	1D	1	\$50.00	1
	1.2	W	10A - 3P	60	10/19/2022 - 10/19/2022	1D	2	\$42.86	
	1.3	W	3P - 7P	60	10/19/2022 - 10/19/2022	1D	2	\$42.86	2
				** FL	IGHT TOTALS **	1	5	\$221.44	
	2.1	FLIGHT 2 T	6A - 10A	60	10/20/2022 - 10/20/2022	1D	2	\$50.00	2
	2.1	T	10A - 3P	60	10/20/2022 - 10/20/2022	1D	1	\$42.86	
	2.3	T	3P - 7P	60	10/20/2022 - 10/20/2022	1D	2	\$42.86	
				** FL	IGHT TOTALS **		5	\$228.58	
		FLIGHT 3						i	
	3.1	F	6A - 10A	60	10/21/2022 - 10/21/2022	1D	2	\$50.00	2
	3.2	F	10A - 3P	60	10/21/2022 - 10/21/2022	1D	2	\$42.86	2
	3.3	F	3P - 7P	60	10/21/2022 - 10/21/2022	1D	1	\$42.86	1
				** FL	IGHT TOTALS **		5	\$228.58	
		FLIGHT 4							
	4.1	M	6A - 10A	60	10/24/2022 - 10/24/2022	1D	2	\$50.00	2
	4.2	M	10A - 3P	60	10/24/2022 - 10/24/2022	1D	2	\$42.86	
	4.3	M	3P - 7P	60	10/24/2022 - 10/24/2022	1D	1	\$42.86	1
				** FL	IGHT TOTALS **		5	\$228.58	

^{*} REP ORDER COMMENT *
** 10/18/2022 11:17:00 AM: POPULATIONBUYTYPE: CPP.

Oct 18, 22 CONT#

EASTMAN REP

36212988 Mod# Ver# 1 (Last =)

DDS CONT# 0 C/P/E: / / 10415

	FLIGHT 5							
5.1	.т	6A - 10A	60	10/25/2022 - 10/25/2022	1D	1	\$50.00	1
5.2	.т	10A - 3P	60	10/25/2022 - 10/25/2022	1D	2	\$42.86	2
5.3	.т	3P - 7P	60	10/25/2022 - 10/25/2022	1D	2	\$42.86	2
			** FL	IGHT TOTALS **		5	\$221.44	
			1	I				

	Oct 22			
SPOTS	25			
CASH	1128.62			
TRADE	0.00			
NSL	0.00			
TOTAL	1128.62			
		 		TOTAL
				TOTAL
SPOTS				25
CASH				1,128.62
TRADE				0.00
NSL				0.00
TOTAL				1,128.62

** Competitive Comments **

SVC: FA99 MSA CustRadio

Demo Adults 35+

Nondiscrimination -Paragraphs 49 and 50 of the United States Federal Communications Commission's Report and Order No. 07-217 provides that broadcast stations' advertising contracts will not discriminate on the basis of race or ethnicity, and must contain nondiscrimination clauses. Consistent with this order, Katz Communications, Inc. (including any subsidiary or division of Katz) does not discriminate in any broadcast advertising contract on the basis of race or ethnicity and evaluates, negotiates and completes its broadcast advertising contracts without regard to race or ethnicity.

WKCQ 2000 WHITTIER STREET PO BOX 1776 SAGINAW, MI 48605

Client:

ANNETTE GLENN FOR STATE SENATE

Order #: Description: 4309-00002

candidate coordinated

Date Entered: 10/18/2022

P.O.#:

Salesperson:

POLITICAL. .

Invoice Frequency: Billed at end of Media/EOS, Sorted by Date Notary Reg'd

C/O STRATEGIC MEDIA SERVICE/VA 1911 N. FT. MEYER DR. ARLINGTON, VA 22209

Statement Group:

WKCQ

Receivables Group:

POLITICAL

Sales Commission:

COLLECTIONS - WKCQ

A/R Account:

A/R REGULAR WKCQ

Order Discount:

<None>

Agency Discount:

AGY COMMISSION NATIONAL

Default Primary Product Code: <unassigned> Secondary Product Code:

<unassigned>

Last Modified: 10/18/2022

Modified 2 times

OrderType:

Per Spot

Exchange Source:

Katz

Exchange Source Order ID: 36212988

On-Air Schedule

	OII-AII SCII	edule															
	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Oty	Rate	<u>Total</u>	M	<u>Tu</u>	W	<u>Th</u>	F	Sa	<u>Su</u>	
1	10/19/2022	10/25/2022	WKCQ-FM	06:00:00 to 10:00:00	CUSTOM	1:00	8	50.00	400.00	Υ	Υ	Υ	Υ	Υ	N	N	
	Inc. Acct: Spot Type:	-		Sales Comm: X Adv. Sep: X cription:	Agency Discoun Prod Sep: X	it: X		Discount: ly: 255	Pro	d: Po	litical						
			02(No Valid Cop	y)			_				_		_			_	
	10/19/2022						5	50.00	250.00	0	0	1	2	2	0	0	
	10/24/2022	10/25/20	022				3	50.00	150.00	2	7	0	0	0	0	0	
2	10/19/2022	10/25/2022	WKCQ-FM	10:00:00 to 15:00:00	CUSTOM	1:00	9	42.86	385.74	Υ	Υ	Υ	Υ	Υ	N	N	
		General POLITICAL _None	Des	Sales Comm: X Adv. Sep: X cription:	Agency Discour Prod Sep: X	nt: X		Discount: ty: 255	Pro	d: Po	litical						
	**Copy Pla	n: 4309-0000	2(No Valid Cop	y)													
	10/19/2022	10/23/20	022				5	42.86	214.30	0	0	2	1	2	0	0	
	10/24/2022	10/25/20	022				4	42.86	171.44	2	2	0	0	0	0	0	
3	10/19/2022	10/25/2022	WKCQ-FM	15:00:00 to 19:00:00	CUSTOM	1:00	8	42.86	342.88	Υ	Υ	Υ	Υ	Υ	N	N	
	Inc. Acct: Spot Type:	_	Des 02(No Valid Cop	Sales Comm: X Adv. Sep: X cription:	Agency Discour Prod Sep: X	nt: X		Discount: ty: 255	Pro	d: Pa	litical						
	10/19/2022			,,			5	42.86	214.30	0	0	2	2	1	0	0	
	10/24/2022						3	42.86	128.58	1	2	0	0	0	0	0	

Station Totals:

Station WKCQ-FM Spot Count

25

GrossBilling

Combined Disc.

Net Billing

Order Start Date: 10/19/2022

\$1,128.62

\$169.29

\$959.33

Order End Date: 10/25/2022

Spots: 25

Total Charges: Combined Discounts: \$1,128.62 \$169.29

Total Net:

\$959.33

This station does not discriminate in the sale of advertising time, and will accept no advertising which is placed with an intent to discriminate on the basis of race, gender or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, gender, national origin, or ancestry.

Projected Media Month/End-Of-Schedule Billing Totals for ANNETTE GLENN FOR STATE SENATE / 4309-00002 :

Spot Count

Gross Billing

Combined Disc.

Net Billing

October

2022

25

\$1,128.62

\$169.29

\$959.33

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.
, Neil Williams	, hereby request station time as follows:
LIDENTIFY CANDIDATE TYPE	RAL CANDIDATE E OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED
Candidate name: Authorized committee:	
Senate Republican Campaign Committee; PO Box 12023 Lansing	, MI 48901
Agency requesting time (and contact information):	
Strategic Media Services; 4601 N Fairfax Dr. Suite 7	30 Arlington, VA 22203
Candidate's political party:	
Republican	
Office sought (no acronyms or abbreviations): Michigan Snah Distri Date of election:	C+ 35 V General Primary
11/8/22	AND THE RESIDENCE MANAGEMENT OF THE PARTY OF
Freasurer of candidate's authorized committee:	A CONTRACTOR OF THE CONTRACTOR
Roger Victory	
The undersigned represents that:	nished by (check one boy below):
the payment for the broadcast time requested has been fur the candidate listed above who is a legally qualified car	
the authorized committee of the legally qualified candi	
2) this station is authorized to announce the time as paid for b	
3) this station has disclosed its political advertising policies, including and other sales practices (not applicable to federal candidate)	duding applicable dasses and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature:	Signature: Mullar
Name: Nell Williams	Name: Date of Station Agreement to Sell Time: \$\int 0/18/22
Date of Request to Purchase Ad Time: 9/6/22	Date of Station Agreement to Sell Time:

l	on:	
to an opposing candidate or, if it of for a duration of at least four secon the candidate approved the broad broadcast or if radio programming	that the broadcast matter to be aired pursuant to does, (2) contains a clearly identifiable photographeds and a simultaneously displayed printed stated cast and that the candidate and/or the candidate, contains a personal audio statement by the cahe candidate has approved the broadcast.	oh or similar image of the candidate ement identifying the candidate, that te's authorized committee paid for th
Candidate/Authorized Comm		
Signature:		
Name:		
Date:		
	TO BE COMPLETED BY STATION C	NLY
Ad submitted to Station?	Yes No	
Date ad received:	and lanument	
Federal candidate certification sign	ned (above): Yes No	□ N/A
- Coord Controlled Continued on Sign	ied (above).	
Disposition:		
Accepted		
Accepted IN PART (e.g., a	d copy not yet received to determine sponsor it	O)*
Rejected - provide reason	:	
incommence and a service of the serv		
+1 1-1 - 1 - 1 - 1 - 1 - 1 - 1		*
*Upload partially accepted form, ti	hen promptly upload updated final form when c	omplete.
Date and nature of follow-ups if a	ny (e.g., insufficient sponsor ID tag):	
Date and flature of follow-ups, if a	iy (e.g., insufficient sponsor to tag).	
Contract #: 4309-00	Station Call Letters: WKCQ Station Location: Sasphaw MT	Date Received/Requested:
	Station Location: C a 12T	Run Start and End Dates:
Est. #;	Sallon Dasjiw Mi	10/19-10/25/22